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A. Multiple Choice Problems (50%):


1.
Which is not included in order costs? 

A)
processing vendor invoices for payment 

B)
moving delivered goods to temporary storage 

C)
inspecting incoming goods for quantity 

D)
taking an inventory to determine how much is needed 

E)
temporary storage of delivered goods 

2.
In the basic EOQ model, if annual demand doubles, the effect on the EOQ is: 

A)
It doubles. 

B)
It is four times its previous amount. 

C)
It is half its previous amount. 

D)
It is about 70 percent of its previous amount. 

E)
It increases by about 40 percent. 

3.
The introduction of quantity discounts will cause the optimum order quantity to be: 

A)
smaller 

B)
unchanged 

C)
greater 

D)
smaller or unchanged 

E)
unchanged or greater 

4.
Which one of the following is implied by a "lead time" service level of 95 percent? 

A)
Approximately 95 percent of demand during lead time will be satisfied. 

B)
Approximately 95 percent of inventory will be used during lead time. 

C)
The probability is 95 percent that demand during lead time will exactly equal the amount on hand at the beginning of lead time. 

D)
The probability is 95 percent that demand during lead time will not exceed the amount on hand at the beginning of lead time. 

E)
none of the above 

5.
Which one of the following is implied by an "annual" service level of 95 percent? 

A)
Approximately 95 percent of demand during lead time will be satisfied. 

B)
The probability is 95 percent that demand will exceed supply during lead time. 

C)
The probability is 95 percent that demand will equal supply during lead time. 

D)
The probability is 95 percent that demand will not exceed supply during lead time. 

E)
The annual service level is usually greater than the cycle service level, and thus the risk of a stockout during lead time is much smaller than 5 percent. 

6.
Which one of these would not be a factor in determining the reorder point? 

A)
the EOQ 

B)
the lead time 

C)
the variability of demand 

D)
the demand or usage rate 

E)
all are factors 
7. 
One area to which aggregate planning decisions relate is: 

A)
job sequencing 

B)
customer order quantities 

C)
inventory levels 

D)
location 

E)
layout 
8.
Essentially, the output of aggregate planning is: 

A)
the marketing plan 

B)
the production plan 

C)
the rough-cut capacity plan 

D)
the assignment plan 

E)
the material requirements plan 
9.
Which of the following is not an input to the aggregate planning process: 

A)
resources 

B)
demand forecast 

C)
policies on work force changes 

D)
master production schedules 

E)
cost information 
10. Moving from the aggregate plan to a master production schedule requires: 

A)
rough cut capacity planning 

B)
disaggregation 

C)
sub-optimization 

D)
strategy formulation 

E)
chase strategies 
11. ERP implementation probably won't require: 

A)
cross functional teams 

B)
more than three or four months to install 

C)
intensive training 

D)
high funding for both initial cost and maintenance 

E)
frequent upgrades after installation 
12. Periodic updating of an MRP system to account for all changes which have occurred within a given time interval is called: 

A)
pegging 

B)
planned order release 

C)
net change 

D)
regenerative 

E)
exception report 
13. Which of the following lot sizing methods does not attempt to balance ordering (or setup) and holding costs? 

A)
economic order quantity 

B)
economic run size 

C)
lot-for-lot 

D)
part-period 

E)
all of the above 
14. Which statement concerning MRP II is false? 

A)
It is basically a computerized system. 

B)
It can handle complex planning and scheduling quickly. 

C)
It involves other functional areas in the production planning process. 

D)
It involves capacity planning. 

E)
It produces a production plan which includes all resources required. 
15. Pegging is used primarily for which one of the following purposes? 

A)
identify parent items that have generated a certain set of requirements 

B)
identify the supplier of a given component 

C)
identify the supplier of a given component's parent 

D)
periodically update material requirements as conditions change 

E)
obtain exception reports due to periodic changes in material requirements 
16. JIT systems typically use layouts which: 

A)
are based on processing requirements, product by product 

B)
enable moving parts in large lot sizes 

C)
facilitate handling dissimilar products at the same time 

D)
all of the above 

E)
none of the above 
17. A basic requirement for operating with the low inventories present in JIT systems is: 

A)
Inventory space must be increased. 

B)
Inventory investment must be increased. 

C)
Major problems must be identified. 

D)
Major problems must have been solved. 

E)
Inventories must be reduced rapidly. 
18. A kanban card is used to signal that: 

A)
work is needed at the work center 

B)
work is ready to be moved to the next station 

C)
a worker has run out of parts needed for further processing 

D)
a machine has broken down and needs immediate attention 

E)
a machine is ready for preventive maintenance 
19. The activities controlled in the same way by kanban and MRP II is the determination of: 

A)
rates of output 

B)
products to be built 

C)
materials required 

D)
capacity required 

E)
feedback information 
20. Which of the following contributes to the competitive advantage enjoyed by firms using JIT/lean production?
I. lower processing costs
II. fewer employees
III. fewer defectives
IV. greater flexibility. 

A)
I, II, and III 

B)
II, III, and IV 

C)
I and IV 

D)
I, III, and IV 

E)
I, II, III, and IV 
21. The two different approaches to load work centers in job-shop scheduling are: 

A)
load charts and schedule charts 

B)
Gantt charts and assignment method 

C)
infinite loading and finite loading 

D)
linear programming and makespan 

E)
none of the above 
22. Effective scheduling cannot: 

A)
yield cost savings and improved productivity 

B)
reduce the need for expansion of facilities 

C)
improve customer service 

D)
eliminate the need to train employees 

E)
improve patient care in medical settings 
23. The purpose of cyclical scheduling is to: 

A)
eliminate weekends and holidays 

B)
rotate schedules 

C)
add flexible hours 

D)
incorporate overtime 

E)
observe work patterns 
24. In an assignment model where there are fewer jobs than resources: 

A)
Dummy jobs are needed to solve the problem. 

B)
Dummy resources are needed to solve the problem. 

C)
The problem can't be solved using an assignment model. 

D)
The problem will have multiple optimum solutions. 

E)
The simplex method must be used to solve the problem. 
25. Scheduled due dates are the result of: 

A)
promises to customers 

B)
MRP processing 

C)
managerial decisions 

D)
all of the above 

E)
none of the above 
B. Essay, calculation, and terminology Problems (50%)
1. (13%)A Large law firm uses an average of 40 boxes of copier paper a day. The firm operates 260 days a year. Storage and handling costs for the paper are $30 a year per box, and it costs approximately $60 to order and receive a shipment of paper.
a、 What order size would minimize the sum of annual ordering and carrying costs?(3%)
b、 Compute the total annual cost using your order size from part a.(3%)
c、 Except for routing, are annual ordering and carrying costs always equal at EOQ?(2%)

d、 The office manager is currently using an order size of 200 boxes. The partners of the firm expect the office to be managed “in a cost-efficient manner.” Would you recommend that the office manager use the optimal order size instead of 200 boxes? Please justify your answer.(5%)

2. (10%)Please list the major assumptions of the EOQ model.

3. (8%)Please prepare a master schedule given this information: The forecast for each week of an eight-week schedule is 50 unit. The MPS rule is to schedule production if the projected on-hand inventory would be negative without it. Customer orders (committed) are 52, 35, 20, 12 for week 1, 2, 3, 4. Please use a production lot size of 75 units and no beginning inventory.
4. (6%)The following table lists the components needed to assemble and end item, lead times, and quantities on hand.
Item


end
B
C
D
E
F
G
H

LT(wk)


1
2
3
3
1
2
1
2

Amount on hand

0
10
10
25
12
30
5
0







End item





B(2)



C



D(3)



E(2)

F(3)

G(2)

E(2)

H(4)

E(2)

a、 If 20 units of the end item are to be assembled, how many additional units of E are needed?(3%)

b、 An order for end item is scheduled to be shipped at the start of week 11. What is the latest week that the order can be started and still be ready to ship on time?(3%)

5. (4%)Please contrast net-change system and regenerative systems for MRP.
6. (9%)Using the information presented in the following table, identify the processing sequence that would result using (1) FCFS, (2)SPT, (3) EDD, and (4) CR. For each method, determine (1) average job flow time, (2) average job tardiness, and (3) average number of jobs in the system. Jobs are listed in order of arrival.
Processing

Due date

Remaining no.

Job
time(days)

(days)


of operations

A

8


20


2

B

10


18


4

C

5


25


5


D

11


17


3

E

9


35


4
2
1

